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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2019 
C.124.S2 

PHYSICS 

PHE-16 : COMMUNICATION PHYSICS 

Time : 2 hours 	 Maximum Marks : 350 

Note : All questions are compulsory. However, internal 

choices are provided. Use of log tables and 

calculators is allowed. Symbols have their usual 

meanings. 

1. Attempt any five parts : 	 5x2=10 

(a) Draw basic block diagram of a typical 
communication system. 

(b) Name the four network topologies. 

(c) State any four uses. of WAP. 

(d) Determine the quantization noise for digital 
signal with step size of 10 mV. 

(e) Write down the steps involved in joining two 
optical fibres. 
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(f) Why are four frequency sets necessary in 

cellular mobile telephony ? 

(g) Draw the waveform showing PPM. 

(h) Why are hollow waveguides preferred over 

metallic conductor at microwave frequencies ? 

2. Attempt any two parts : 	 2x5=10 

(a) Starting with the lumped equivalent circuit 

of a finite section of transmission line, show 

that the characteristic impedance of a 

lossless line isC • If L = 150 nH/m and 

C = 60 pF/m, calculate Z0. 	 4+1 

(b) Discuss the sources of noise in a 

communication system. 	 5 

(c) Differentiate between (i) continuous and 

discrete signals, (ii) analog and digital 

signals, using appropriate examples. 	5 

3. Attempt any two parts : 	 2x5=10 

(a) Explain analog frequency modulation 
technique for digital communication. 	5 

(b) Explain TDM technique with interlacing of 
sample from 2 channels. 	 5 

(c) Draw the circuit diagram and explain the 
working of balanced modulator used in 
generation of AM signals. 	 5 
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4. Attempt any two parts : 	 2x5=10 

(a) What are the various losses in an optical 
fibre ? 

(b) Explain the working of a superheterodyne 
receiver using a block diagram. Write merits 
of this receiver. 	 4+1 

(c) Draw neat diagram of a waveguide 
directional coupler.. Discuss its performance 
characteristics. 	 3+2 

5. Attempt any two parts : 	 2x5=10 

(a) Compare the advantages and disadvantages 
of Intranet and Internet. 	 5 

(b) Explain bluetooth technique. What are its 
advantages ? 	 3+2 

(c) Explain with the help of a block diagram 
von Neumann architecture of a computer. 
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